
�� HR2320T  ����26MM

1 / 11




�� HR2320T  ����26MM

8U�� 2017/11/17

1
 1 / 3

�gD��_��

���� ���� �� �� 
� N/O 
�1 
�2 �	

008 122878-2 ��I 1

    D10 INC. 9-11,13-15

009 346181-9 b�^�50 1

010 266349-0 �>~9M8X50 1

011 451539-0 b�E� 1

013 141765-6 q�M� 1

014 233360-7 ^� 4 1

015 154935-8 �b� 36 1

016 142971-6 vL] 1

    C10 213636-8 -c25 1

017 331890-3 `7 1

018 211294-4 aK6806LLU 1

019 232286-0 oH^� 1

020 346833-2 .4# B 1

021 346832-4 .4# A 1

022 213278-8 �S17 1

023 455392-6 .4} 1

024 455394-2 .4}w 1

025 455391-8 .4�[ 1

027 216019-1 of 3 4

028 140266-1 i+ 1

    C10 213344-1 -c9 1

029 332139-4 |��V 1

030 227360-7 "vL51 1

033 234148-8 ^� 31 1

034 267153-0 !,0 30 1

035 257932-4 dn,0 1

036 267153-0 !,0 30 1

037 325783-4 `7 9B 1

038 325791-5 P*~�B 1

039 325795-7 A10B 1

040 424267-0 yS12 1

041 325798-1 �S�A 1

042 213073-6 S 9 1

043 233979-2 ^�S 28 1

044 325784-2 � 1

045 213258-4 �S 17.5 1

046 310345-1 	pT� 1

047 346036-8 C H 1

048 324215-8 	p} 1

049 234098-7 x�^� 14 1

050 210028-2 �N 606ZZ 1

051 257336-0 6JS EXT U-6 1

052 253186-1 �,= 7 1

053 233360-7 ^� 4 1

054 346831-6 qH 1

055 326448-1 �L� 1

056 227359-2 "vL10 1



�� HR2320T  ����26MM

8U�� 2017/11/17

1
 2 / 3

�gD��_��

���� ���� �� �� 
� N/O 
�1 
�2 �	

057 332125-5 (�F�L 2

058 219014-0 X%�N 10 1

059 257321-3 S 8 1

060 310344-3 aKh 1

061 211032-4 aK 608ZZ 1

062 266437-3 �:;�~9 M4X16 2

063 285735-6 aK�H 1

064 227719-8 vL26 1

065 213728-3 �S 68 1

069 141572-7 �{I 1

    C10 443153-6 p� 1

070 213407-3 A26 1

071 213678-2 -c 12 1

072 262569-4 7z9 1

073 211097-6 �N6000LLB 1

074 961006-2 tS S-10 1

075 240121-8 �\65 1

076 515351-3 3/�115V 1

    D10 INC. 72-75,77,78

077 681652-2 5?,0 1

078 210023-2 aK 627DDW 1

079 267804-5 X%y�15       F/HR2230 1

083 266361-0 ~9 4X30 2

084 451527-7 tH 1

085 628184-8 �)115V 1

086 451538-2 3/{ 1

087 850M00-6 HR2320T NAME PLATE 1

088 819390-8 �ZQY 1

089 194074-2 mRCB-325       F/9553B 1

090 638655-7 mR�I 1

091 266556-5 jW~93X12 2

092 266361-0 ~9 4X30 4

093 850M03-0 HR2320T SERIAL NO. LABEL 1

094 819389-3 �ZQY 1

095 682566-8 
)$B+10 1

096 693514-2 
)1.25-2-2.5 1

097 650625-6 �� 1

099 687682-1 e�� 1

100 266385-6 ~94X14 1

101 266326-2 ~9 M4X18 1

102 451528-5 �b�[ 1

103 266326-2 ~9 M4X18 2

104 194080-7 r�I 1

    D10 INC. 105-121

105 286263-4 w 35 1

106 233940-9 ^�S 19 1

107 418217-5 r��{ 1

108 345333-9 p 1



�� HR2320T  ����26MM

8U�� 2017/11/17

1
 3 / 3

�gD��_��

���� ���� �� �� 
� N/O 
�1 
�2 �	

109 216022-2 of 7 1

110 345187-4 ,= 1

111 233916-6 ^� 21-29 1

112 267279-8 !yS 21 1

113 324355-2 �<� 1

114 216013-3 of 6 2

115 231669-1 x�^� 31 1

116 345334-7 .lS 1

117 418218-3 .lS[ 1

118 216018-3 of 5.0 1

119 345335-5 H^� 1

120 267270-6 !yS 24 1

121 233924-7 ^�S 21 1

122 267447-3 !,0 14 1

123 234343-0 Gs^�5 1

124 263005-3 �2O 6 1

A01 194079-2 k�r�I 1 *

A01-1 194079-2 k�r�I < 1

A02 331886-4 '�} 1

A03 824916-3 u@�&] 1

    C10 162302-3 �H 2


